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Bl S5,

want {StC,

eat HLC}.

drink BFA|CE,

buy ACE,

have 2}X|[Ct,

get AL}

begin A|ZlSICE,
like ZO}sICt,
think 242tStCt,
forget Qo{H{2|C},

worry ZAXStCY,
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Jot
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tourist O{&42H
newcomer ¢!

professor w2



husband ‘=™

loser T{HHX}

office worker Z|AMY
kid O{&l0t0|

farmer 558

pilot ZEA}

baby Of2|

stranger StM AR2H O[Et9l
dog 7H

mistake A
gentleman AlAf

soldier ¢l

MZL CHo{E8 0|3l DtE 2HTHsE 2SO0 notS oM 2%0l| BHO| £ Mol BSLICh
20t 2YS0I1E2 oHHM AT OHE2 HO{EAM L.

0L22] TORAITN 2 A2|2 Tt 2of BAD| HHLICH

Lt= 29210k, | am a musician.

Lt= 29ttt OFL|OF. | am not a musician.

L= w42t OFL|OF. | am not a professor.

Lt= 40| OfL|OF | am not a husband.

L= Q2|AIOF You are a cook.

L= Q2|A2t OFL|OF. You are not a cook.



4= THBfXI2t OFL|OF. You are not a loser.

4= $|AMRI0| OFL|OE. You are not an office worker.

22|= *IF1E0]|0f. We are friends.

L22|= XIF1S0]| OtL|OF. We are not friends.
L22|= O{ZI0S0]| OtL|OF. We are not kids.
L2|= 52 50| OfL|0F. We are not farmers.
J= HRILUMO|OF. He is a liar.

= HRILUTO|2}F OFL|OF. He is not a liar.

= ZZAP) OfL|OF, He is not a pilot.

= o2 M|2} OtL|OE, He is not Mr. Anderson.

4= OFA|OIQIO0|OF. She is an Asian.
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OFA|OFQIO| OfL|OF, She is not an Asian.
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Of2|2} OtL|OF. She is not a baby.
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M AH2EO| OFL|OF. She is not a stranger.

|J
»Y
rlo

AFZLOE, It is an apple.
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At} OFL|OF. It is not an apple.



[
Y

rlo

|
Y

rjo

|
un
rlo

|

i
rio

|

i
rio

|J
uin
rio

2H2} OfL|OF. It is not a dog

Al AN
A2t OFL|OF. It is not a mistake

Shes
2t S ALOF. They are nurses

2FS AP
t2F OFL|OF. They are not nurses

AIAFSO0| ofL|o
= tLIOF. They are not gentlemen

Z0|S0| ofL
O|=0| OtL|OF. They are not soldiers



